
Culture	d’E.coli	
Séances	de	2025	
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PHASE	DE	LATENCE	

PHASE	EXPONENTIELLE	 PHASE	STATIONNAIRE	



y	=	0,0152x	-	5,2578	
R²	=	0,99248	
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Exploitation	

MILIEU	LB	
	

r	=	0,0325	min-1	
Temps	de	génération	=	ln2	/	r	

	
Temps	de	génération	=	21	min	

	
Valeur	de	K	:	DO	=	0,65	

	
K	=	4,55•108	bactéries.mL-1		

une	unité	de	DO	=	7•108	bactéries.mL-1.		

MILIEU	LB	dilué	deux	fois	
	

r	=	0,0152	min-1	
Temps	de	génération	=	ln2	/	r	

	
Temps	de	génération	=	45	min	

	
Valeur	de	K	:	DO	=	0,16	

	
K	=	1,12•108	bactéries.mL-1		
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y	=	0,0188x	-	5,7054	
R²	=	0,98707	
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Exploitation	

MILIEU	LB	
	

r	=	0,028	min-1	
Temps	de	génération	=	ln2	/	r	

	
Temps	de	génération	=	25	min	

	
	

une	unité	de	DO	=	7.108	bactéries.mL-1.		

MILIEU	LB	dilué	deux	fois	
	

r	=	0,019	min-1	
Temps	de	génération	=	ln2	/	r	

	
Temps	de	génération	=	36	min	

	
	


